CHM151 Quiz7a 25Pts  Fall 2014 Name: )< e
Show all work to recetve credit.

. (5 Pts) How much heat 1s given oft when 8.95 grams of ethylene (C,H,) are burned ? (C 12.01, H 1.08)
C,Ha(g) + 30,(g) > 2C02(g) + HZO(l) AH° =-1411 kJ/mol
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2. (3 Pts) The specific heat of silver is 0.235 J/g-°C. How many joules of heat are required to heat a 75 g silver
spoon from 20°C to 35°C? o
— ‘: “}? ‘;"’"’ e ; ““" \ b o ] I
02357 | 72 18— = 9647
3% |
N st ji &
d J A )
3. (4 Pts) Find AH®,, for the reaction El b - :D
CHa(g) + 202(g) > CO2A(g) + 2HO(D). —

[AH®; (CHy(g)) = ~74.8 kl/imol; A (COA(g)) = ~393.5 kl/mol; AH s (H,0(1) = -285.5 kl/mol] _

A= (=310.5 +3 (-285.5)) = (774:8 + 2(9) = 559.7.kD)
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4. (6 Pts) Calculate the heat released (kJ) in the reaction of sulfur dioxide gas and oxygen gas to form sulfur

trioxide gas: n
2501(g) + Os(@) > 2805(g) < (ol
. Given: ke
F | S(s)+ Oxg) > SOxg) AH =299 ki/mol : LH LN/
;ﬁ'j 2 S(s)+3/204g) = SOs(g) AH= -395 kl/mol
4501, Fevere #i X5 Q\ )Ll "‘?%/é +M \/’ + [;018
Coyg FIX2 : ok,/\,,”jow,? 25916 ~ 7170
/

<~ J—
550,19 * g > S0y (192 KD
5. (3 Pts) The reaction that represents the standard enthalpy of formation for acetone (CH;COCH;3), a common

ingredient in nail polish remover is:

3 C(graphite) + 3 Hx(g) + %2 0xg) — CH;COCHs(l)
B) 6C(diamond) + 6Hyg) + Oxg) — 2 CH;COCHs()
C) 3C(diamond) + 3 Hyg) + %0xg) — CH;COCH;()
D) CH;COCH;(i) - 3 C(graphite) + 3 Hx(g) + %2 0i(g)
E) CH;COCHy(I) + 405(g)—> 3COxg) +3H0(g)

6. (4 Pis) Given the following AH® values,
# 1 Hyg)+ % 0(g) > HO0(0) AH%=-285.8kl/mol
# Q. HO0(1) > Ha(g) + Oxg) AH® o, = 187.6 kJ/mol
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